1. Find the product of the following: 


-5x-4y-7(-8x-6y-8 - 9 x3y9  + 4x2y-11)

2. Perform the following division:


56.4 X 10-7 

1.88 X 10-6
3. Perform the following division:   

x+7
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4. Four identically sized circles are placed inside a square as shown below. The perimeter of each circle abuts 2 sides of the green square and the 2 adjacent circles.


The radius of each circle is equal to the radius of cylinder A shown below with a volume of 62,500 ft3.


The height of cylinder A is equivalent to the height that would be obtained by an object that is projected vertically upwards from the surface of the Earth with a velocity of 100 feet per second, 5 seconds after leaving the surface.

Find the area of the blue shaded region between the circles.

Simplify and express your answer in terms of pi.


5.  Solve the following using the quadratic formula:

5x2 - 20x - 25 = 0

6.    Solve the following by completing the square:

X2 - 34x + 289 = 0

7. Factor the following polynomial completely:
 

5x3 + 3x2 - 25x – 15

8. Simplify the following expression:

7x-5
37x-7
9. Simplify the following expression:
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CYLINDER A


V = 62,500 ft3





Object position at


t = 5 seconds
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